Problem of the Day 5-1

j Problem of the Day

Provide the missing information.
Then solve.

Libby uses 8 inches of ribbon to
make a hair bow. How many inches
did she use to make a bow for each
cheerleader?
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Name

Choose the best answer. A\

1. Which sentence is true? 5. Which property of addition is
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O 4,185 < 4,518
O 5,923 > 5,932
O 6,050 = 6,500
QO 7,248 > 7,284

. Which amount of money has the

What will she need to do?
O Subtract 4 from the difference
O Add 4 to the difference
O Just find the difference
O Subtract 2 from the difference

. A store sold 456 cartons of orange

juice yesterday. What is that
number rounded to the nearest
hundred?

O 400
O 460

O 450
O 500

shown below?
0+7=7

. What is the missing number in the

. Write 30,000 + 600 + 8 in

standard form.

- Kiki scored 27 points. Tanya

scored 11 points, and Penelope
scored 8 points. How many more
points did Kiki score than Tanya
and Penelope combined?

. Order the numbers from greatest

to least.

2,935; 2,953; 2,539; 2,593
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o
greatest value? table below? =
. . e e e S P wn
O 5 dimes, 3 nickels e aachat Players @ g_
O 3 quarters, 1 nickel - 5 5
QO 1 quarter, 7 nickels )
O 2 quarters, 2 dimes, 1 nickel i o6
9
. Joylin is subtracting 97 — 23. She 12 96
adds 4 + 23 before subtracting.




